The abbreviation NOTA denotes
"None of these Answers." :
Figures may not be drawn'to scdle.

1. One side of a triangle has length 6+/3 . If the
angles measure 30, 60 and 90 degrees, then
which could NOT be another side length ?

A b B. 1243

c. 943 D. 18 E.NOTA

2. Anangle measures twice that of its complement.

What is the degree measure of the angle?

A.30 B. 45
C. 60 D. 90

E. NOTA

Find the value of y, if the expressions above
are angle measures,

A 20 8. 40
C. 60 D. 120 E. NOTA
A
4. 7
D C
« —» -
A B
A 4

Rectangle ABCD has two sides on the coordinate
axes as shown, arid vertex C on the circle. If
AB=8 and the area of rectangle ABCD is 48 then
what is the radius of the circle?

A. 10 B.12

C. 14 D.14 E.NOTA

5.

Geometry Individual Test

D : E F
-Square ACFD is divided into four
congruent rectangles {one is shaded) and a
smaller square at the center (PQSR). If the
area of square ACFD is 36 and the area of
square PQSR is 16 then give the perimeter
of one of the smalier rectangles. (shaded)

E.NOTA

E

In triangle ACB, AD=DC and AE=EB.
If DE= 4x+30 and CB=10x+20, then give
the length BC.

A. 5 B. 20

c. 70 D. 220 E.NOTA

S

If angle SRT is bisected by RU and S5T=9,
SR=6 and RT=4, then SU=

E.NOTA
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8. Anisosceles right triangle and a second triangle
with angles 30, 60 and_90 degrees have the same
length hypotenuses. Find the positive difference of
their perimeters, to the nearest tenth place, lif the
length of each hypotenuse is 12,

A 04 B. 05

C. 06 D. 07 E.NOTA

9. Intriangle ABC, BD blSec‘rs AABC with h point D
onside AC. BE is the median to side AC, with

Eonside AC. If AB=6, BC=9 and AC=10 then
give the positive distance DE to the nearest
tenth, : -

A 10 - 'B.08
.07 D.03

-
\
. |
E. NOTA‘

10. Square ABCD has as mldpomfs of n‘s s:des é F.
6and H. Square EFGH is the result. On square
EFGH, each side has midpoints I.J K, and L/and a
third square IJKL is drawn. If AB=12 then find
the area of square TJKL.

A.72 B.36 |
c. 18 D. 1842 E.NOTA
11. Lines m and n are parallel, and line 1, not ‘
necessarily in the same plane, intersects line
m. Which cannot be true? ‘

A tintersectsn
B. t is perpendicular ton
C. 1t and n are skew

D. tisparallel ton
E.NOTA

12, A triangle has sides of length 5, 6 and x. \
If the triangle is NOT a right triangle, then
which can be the length of x?

ALl B.V61

, AR
¢. V11 D. 10 E.NOTA |

13.

A cube with edges of 6 cm each is truncated
as shown, so that the new face created is an
equilateral triangle of side length 2 e¢m, and
AB=EF=DC. Find the area of one pentagonal face,

in square cm. .
A 36-22 ' B.36-42
C. 35 7 D. 32
E.NOTA o

14. In a semicircle with diameter E AABC is
inscribed. If AB =2(BC) and AC =12 then

find the area of the semicircle.

A 967 - B.T2m

C. 36 D 24w E.NOTA

15. A square of side |engﬂ:t‘ 32 is circumscribed about

a circle. If the circle has radius k+/2 then give
the value of &

A 8 BSJ_

C. 16 D. 1612 E.NOTA

16. A trapezoid has height 12, and legs 13 and 15.
The shorter base has length 10. What is the
length of the longer base?

E.NOTA

17. Right triangle ABC has the right angle at vertex
C. If AC=6 and AB=10 then what is the distance
from point C to the hypotenuse?

A6 . B 43

c.48 D72 E.NOTA
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21. Semicircle ABC is shown, with

18. Consider the intersection of the solutions to
the following inequalities: y<x+4, y=>4 and

x <5. What is the length of the longest side of
the triangular region formed by this intersection?

A.93 . B.9V2
c. 53 S b.52  ENOTA

19. E - - . F

A D B C

Lines EF and AB (the latter contains
points D and C} are parallel. If AD=DB=BC then
give the ratio of the area of AAEC to the area
of ADFC .

A. 9:1 B. 3:1

C.9:4 E.NOTA

20.

Lines E‘F and E r(fhe. Icffe}' contains
points D and C) are parallel. If AD=DB=BC=5 and
point G, the intersection of DF and EC ,is
a distance of 4 from line AB and a distance of

3 from EF , then give the ratio of the area of
ADGB to the area of ADFC .

A 47
c. 2.7

B. 3:7

D. 1:114 E. NOTA

22.

23

24

the length of segment AC
12. Point B may lie on any
point of the semicircle,
(except on point A or C).
Let AABC have the largest possible area, with
vertices described. What is that area?

A C

E. NOTA

A circle has interior which is always totally inside
square ABCD's interior as shown. The circle rolls
along the sides of the square, always keeping at
least one side of the square tangent to the circle.
The circle's diameter is 0.75 the length of one
side of the square. What is the percent of the
area of the square NOT covered by the circle's
interior, as it rollg, to the nearest tenth of a
percent?

A 192% | A B
B. 121%

C. 215%

D. 233%

E. NOTA

C D

. Circles A and B (centers at A and B respectively)
have a common external tangent. The tangent

line meets circle A at point P and meets circle B
af point Q. Circle A has radius 5 and circle 8 has
radius 8. If PQ=20 then what is the distance AB?

A 13 B 409
€. 4391 D. 391-13

E.NOTA .

. Anisosceles right triangle has one side on
the x-axis, and one vertex on point P(1, 0).
Another side of the triangle could NOT

lie on the line with which equation?

A x=1 B. y=x-1

C. y=l-x D. y=+2x+1 E.NOTA
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25, D

llIl.llllIDm

A

- Triangle DBC and'é:qUiﬁléleér'di ’r'r'iuangle" ABC
share a side as shown. If altitude AE hds
length 12, and DB=5 then give the perimeter of
quadrilateral DBAC, to the nearest tenth.

A.474 B.734. .

C. 87.3 D.90.0 E.NOTA

26. A circle's radius is shrinking so that its
circumference at the end of minute 2 is
75% of its circumference at the end of
minute 1. The circumference at the end of |
minute 3 is 75% of its circumference at the
end of minute 2. If the circle has radius
200 at the end of minute 3 then give the
radius at the end of minute 1.

A225 B 1125
¢ —-32300 D. ——32900 E.NOTA

27. Triangle ABC Hhas sides of lengths 5, 12 and
k. If the triangle is obtuse, then the possible
lengths for kare { x| a<k<b or c<k<d}
for a<b<c<d. Givethesum a+b+c+d
to the nearest tenth place.
|

A 479 8.370
C. 13.0 D. 24.1 “E'NOTA

28,

Cis
center. -

The distance around the shaded region is
42+ 147 cm. Give the measure of the
minor arc that helps bound the shaded region,

A.30° B '60° |
_€.100° D 120° E.NOTA

29. A convex pblyhedr;dn has 12 édgeﬂs‘a‘nd 8 faces.

What is the number of vertices that the
polyhedron has?

B. 8

'C. 10 D. 14 €. NOTA

30. A triangle of side lengths 40, 42 and 58 is
inscribed ina circle. The circle is inscribed
in a regular hexagon, The regular hexagon has
the same area as the area of an equilateral

triangle ABC. Find the altitude of triangle ABC.

29./3 583

A X2 g 28VO
| 3. 3

S C. 583 .p. 296

E. NOTA






